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Two identical antennas mounted on identical towers are separated from each other by a
distance of 45 km. What should nearly be the minimum height of receiving antenna to

receive the signals in line of sight ?
(Assume radius of earth is 6400 km)
Options :

8643514321, /2-1 m

8643514322, 2220 m

8643514323, 1002 m

8643514324, 1977 m

Question Number : 1 Question Id : 8643511441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

200820 45 km ©OITTH wOtie Dedod Rrezhony Hed wode de2od 2THE
S,08INII, %&xmﬁd. reesd Jesdod@ FoBeInTam, ALTOTLL APFOMS S08IT TOF
»3Te P

(PRdod gaaéam% 6400 km 20T enedod)

Options :

8643514321, /0-1 o€

8643514300, 2000 &be

8643514323. e e

8643514324, 1077 ¢

Question Number : 2 Question Id : 8643511442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with an electron and a proton were calculated by
accelerating them through same potential of 100 V. What should nearly be the ratio of their
wavelengths ? {m[:,:l.ﬂﬂ?.??u m, = 0.00055u)



Options :
8643514325, 43 : 1

8643514326, 1860 : 1

8643514327, 41411

o
8643514328. s Bt

Question Number : 2 Question Id : 8643511442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 V aysoeyn a‘eﬁuf-;fsﬁm:-ﬁ@wu *:n_:fa'ic?*‘ WOBY TRLERT NN AOWOHAT
@-7pf) ICOMROSTNYD, I8 JIRFOINT. YPNY ITOMOITNY SRTRITED ?
(m,=1.00727u m,=0.00055u)

Options :

8643514325, 431 1

8643514326, 1860 : 1
8643514327, 414 : 1

(1860)2 : 1
8643514328.

Question Number : 3 Question Id : 8643511443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The refractive index of a converging lens is 1.4. What will be the focal length of this lens if it
is placed in a medium of same refractive index ? Assume the radii of curvature of the faces
of lens are R; and R, respectively.

Options :

8643514329, 2eT0

8643514330, 1



8643514331, Infinite

Ry R,

8643514332, =B

Question Number : 3 Question Id : 8643511443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e DARTYROTT S[FPDT0TY 1.4 SN, OTW, Slnl g [ennanlel Ales BRFTI0AT,
OT0 TN TRTUNMW, 7 WARTT Ded Ny Nt T Ry &) R, 20 swla !
Options :

8643514329, E

8643514330.

8643514331, SFC2
"Ry R,

R1 = Rg
8643514332.

Question Number : 4 Question Id : 8643511444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Red light differs from blue light as they have :
Options :

3643514333, Same frr_-qu encies and same wavelengms

9643514334, Different frequencies and different wavelengths

Same frequen:ies and different wavelengﬂm
8643514335.

Different [ requencies and same wavelengths
8643514336.

Question Number : 4 Question Id : 8643511444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

YR, BROOWPYTo0T o WY Ded WY¥NoZ PFTONG :
Options :
0643514333, 200 8@ DB 2,00 STOMOT

8643514334, T, oI DI I, ICOMOST

W00 S8 I P, 30omeeT
8643514335. U T el -

8643514336, P T WO 1o STOMROTT

Question Number : 5 Question Id : 8643511445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—3 A
The magnetic field in a region is given by B =B, l i} k. A square loop of side d is placed
\a fosg i

with its edges along the x and y axes. The loop is moved with a constant velocity v =v, i .

The emf induced in the loop is :

Y

A

Options :

8643514337, 24

8643514338. a

8643514339,  2a



B, v,d>
8643514340,  2A

Question Number : 5 Question Id : 8643511445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— £ e % A
TEeTFPOTT FoBBE0ITTY, B = B, = |Ic QO VEBCONT. LOWWNE x W y YIRS
v a )/
POBBR, |ONH0Z Wom d [T 0T T DNedE o), |WOITND. Beddodn T PHen
) G =, i)

V=1, 1 F_"a'g ﬁ'ﬂ?ﬂﬂ.
DedoDY FeoBd AW I3 WO !

Y

A
{)z
d
d
:
Options :
BD Uy d
8643514337, 2a
2
B[! I:Il'_.'l d
8643514338. a
2
B[J IJ[J d
8643514339, 24
)
Blf.'l I:Il'.:l d

8643514340,  2A

Question Number : 6 Question Id : 8643511446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Amplitude of a mass-spring system, which is executing simple harmonic motion decreases
with time. If mass=>500g, Decay constant=20 g/s then how much time is required for the

amplitude of the system to drop to half of its initial value ?
(In 2=0.693)

Options :

8643514341, 246

8643514342, 1001 s

0.034 s
8643514343.

8643514344, 1702 S

Question Number : 6 Question Id : 8643511446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Xo¢ monzg woschgod gﬁémé—iorfﬁ 355;% D Te0x) 2OT B¥eI FRHCIRMER.
2,000 Fed Tpd =500g, 3008 ATOT =20 g/s, STS, F[WHOBR RO ©TO STORE BPOD
@qja-i; DacH Hes HODE, ?

(In2=069 @0 RDIRT, )

Options :

8643514341, 4658

8643514342, 1001 s

8643514343, 0034 s

8643514344, 1702 S

Question Number : 7 Question Id : 8643511447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Calculate the value of mean free path (A) for oxygen molecules at temperature 27°C and
pressure 1.01x10° Pa. Assume the molecular diameter 0.3 nm and the gas is ideal.
(k=138x10"2 JK

Options :

8643514345, 02 M

58 nm
8643514346.

8643514347, 56 nm

102 nm
8643514348.

Question Number : 7 Question Id : 8643511447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
evgd 27°C @3 w33 1.01 x10°Pa 39 SNusd wened =Rg, =0 IF (A) O @S0,
oML BOWO. @dF A 03nm DD STWIF WHOPW vwka. (k=138x10-BJK 1)
Options :

8643514345, 2 nm

58 nm
8643514346.

8643514347, 56 nm

102 nm
8643514348.

Question Number : 8 Question Id : 8643511448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the nature of flow of water from a circular tap, when its flow rate increased
from 0.18 L/min to 0.48 L/ min ? The radius of the tap and viscosity of water are (.5 cm and
10~3 Pa s, respectively.

(Density of water : 10° kg/m?)

Options :



643514349 Stead}-' flow to unstead}f flow

8643514350, Cnsteady to steady flow

8643514351, emains steady flow

8643514352, FRemains turbulent flow

Question Number : 8 Question Id : 8643511448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BODT TOR, 0.18L/min 20T 0.48 L/min TBRRTO0T, 2o Feod IYOOT 0T
TOCINWTOR ArFRTHeR ? LMFW@N &, DI 0T Eﬂjéri@: 05 cm 3 1073 Pas
SNE.
(Reds moT3 : 10° kg/ md)
Options :
40 BOHOT ©AT BOJY
8643514349. * d

&2 OF
8643514350. &

TOFY) AT=ohode |TIT
8643514351. @ =

®OT) TR =oNohe [T
8643514352. ol =

Question Number : 9 Question Id : 8643511449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A charge Q is moving dl distance in the magnetic field l_:": . Find the value of work done by

=
B .
Options :

8643514353, 1

8643514354, 2810



8643514355, nfinite

8643514356.

Question Number : 9 Question Id : 8643511449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
50T, E 39 Q wHeTFpomD dl S, BRTZZ, BIAT. |§ "RRT TOIT m’aeé:smq
DIWE.

Options :

8643514353, 1

8643514354, E

8643514355.

8643514356.

Question Number : 10 Question Id : 8643511450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the time interval between 33% decay and 67% decay if half-life of a substance is
20 minutes.

Options :

20 minutes
8643514357.

40 minules
8643514358.

A0 minutes
8643514359.

13 minutes
8643514360.

Question Number : 10 Question Id : 8643511450 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WP ZPOTT STRFOI 20 VRTNTITWT, 33% FEWE I 67% FoWING IBIT PO
©0ITIW, FOBEREEND.

Options :
L FATAY o Ly
8643514357, 2V QERTR
AT o A Ly
8643514358, 10 QLT
——
8643514359, 00 RERTNR
13 Qenzned
8643514360.

Question Number : 11 Question Id : 8643511451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the given circuit, comment on the type of transformer used.

i i 011A

e

e

)| =] f,u WY,
D

220V Q

.

Options :

8643514361 Step - up transformer

8643514362. Step down transformer

Auto transformer
8643514363.

Aunxilliary transformer
8643514364. 3

Question Number : 11 Question Id : 8643511451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



QDERWH TWOWY Teamwedgy, YLTCIRENATON TODIFT VBT Wi WLIIA.

i ip_ 0.11A
e b
= 60 W
220V @ A T
Options :
8643514361, WOT TOJSFT
8643514362, O¥T TODTIFT
OO TWONSFT
8643514363, <
HTooRE TO[IF3
8643514364, -

Question Number : 12 Question Id : 8643511452 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The half-life of Au!®® is 2.7 days. The activity of 1.50 mg of Au!®® if its atomic weight is

lis, (N,=6x10%/mol).

198 g mol

Options :
8643514365, 220 Ci
8643514366, -2 <1

8643514367, 222 C1

8643514368, 20 Ci

Question Number : 12 Question Id : 8643511452 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Au®® 3 wpproln 27 HEnvons, ©ud IoSwen 3e%y 198 gmol ! =md, 1.50 mg

Aul® 3 D30 T3, (N, =6x102/Bncer)



Options :
s
8643514365, 220 Ci

357 Ci
8643514366, -2

8643514367.

8643514368.

Question Number : 13 Question Id : 8643511453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A bimetallic strip consists of metals A and B. It is mounted rigidly as shown. The metal A
has higher coefficient of expansion compared to that of metal B. When the bimetallic strip is

placed in a cold bath, it will :

Options :

8643514369, pend towards the right

Bend towards the left
8643514370.

8643514371 Mot bend but shrink

8643514372. MNeither bend nor shrink

Question Number : 13 Question Id : 8643511453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



QTR SRTNY AT RO A DI, B deemnvmd, BeodD. owm, 3w, RN 83T

3
==

3pc0ATOR03 MRAT, detd B 1t Becdand deed A ol I khFod AmosBA
BRODT AT SRETNY AT, IO WTFTYOATN, O :

e

Options :
LONGEN s
8643514369. st

SBNENR Pran
8643514370. =

TRl Sud M
8643514371. o i

Lot Be), BMRD S
8643514372. = 2 PIRIW 3

Question Number : 14 Question Id : 8643511454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A large block of wood of mass M=5.99 kg is hanging from two long massless cords. A bullet
of mass m=10 g is fired into the block and gets embedded in it. The (block + bullet) then
swing upwards, their centre of mass rising a vertical distance h=9.8 cm before the
(block + bullet) pendulum comes momentarily to rest at the end of its arc. The speed of the

bullet just before collision is :

(take g=9.8 ms™?)

IREWEE IO
".\ ‘1.
'\." ‘I“I
'\‘I 1'.'
\‘I ‘I'I
P S e R g L e L h
e M
—
v
Options :

8643514373, D114 m/s



8643514374, 5214 m/s

8643514375, 5014 m/s

841.4 m/s
8643514376.

Question Number : 14 Question Id : 8643511454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QOB PTG TITLI TNINC0T M=599kg o8& JDNB NTT BB T HROTH,
SeDRBONT, m=10g TS THOBROTI), WRFN TOITNT D W& STERLOHRA
AeOBRNIT. (T +Thom) dreothy) 3T, 30AT DOHORNY FET AYUTBH WILH [T,
(297 +moome) wen Do e YN Todteodsny) vowmwd h=98cam RO LTI,
TGS @8 BRBCIN[TEOT FO Beuw MokT n[ (g=98ms 2 Do 3icdng)

CEIES PP IS

m

M

—
v

Options :

8643514373, D114 m/s

8643514374, 5214 m/s

8643514375, 5014 m/s

841.4 m/s
8643514376.

Question Number : 15 Question Id : 8643511455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Statement 1 :

Statement 11 :

A cyclist is moving on an unbanked road with a speed of 7 kmh 1 and
takes a sharp circular turn along a path of radius of 2Zm without reducing
the speed. The static friction coefficient is 0.2. The cyclist will not slip and
pass the curve. (g=9.8 m/ 5)

If the road is banked at an angle of 45° cyclist can cross the curve of 2Zm
radius with the speed of 18.5 kmh ~! without slipping.

In the light of the above statements, choose the correct answer from the options given below.

Options :

Both statement I and statement 11 are true

8643514377.

Both statement 1 and statement 1l are false

8643514378.

Statement 1 is correct and statement 11 is incorrect

8643514379.

Statement 1 is incorrect and statement 11 is correct

8643514380.

Question Number : 15 Question Id : 8643511455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Teed 1

eed 1l:

&® 7kmh™! 2309 g ImeoHey) w9m0Qn SXodY wOEmH
DR BTTR, IRDARYID &, 2m 8 IFTY SRS JFobd ST
IrchdnwTs. WL FuFmo Tty 02 oD, FES FOD
ZRPOY WD 3T TFIW), TotDITVE.

45° dnemdeodn JHoP, WOF FRRTS, FFST TmoTmy, 185 kmh !
=BBROON &z, 2m VT DI, 2TT0Z BIFWYR.

ZedT ﬁf@'ﬁﬁ*’é&i T RACDYDA, FPNTPYNYY TOoIRT LLITIW, f:ﬁoi:% DRE.

Options :

8643514377.

8643514378.

8643514379.

Beod 13 Beed 11 20@ER %0
Bedd 1 D Lev 1l 20@ER I

Bew 1 RO =) Bewd I 3T



DTS 1 3z sha Iewd I RO
8643514380. e =

Question Number : 16 Question Id : 8643511456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o A A A
A mosquito is moving with a velocity v =05t>i + 3t j + 9k m/s and accelerating in

uniform conditions. What will be the direction of mosquito after 2 g 7

Options :

tan ! {— | from x-axis
8643514381. \2)

_1(5) :
tan_ | = | from y-axis
8643514382. \2)

tan 1[;} from x-axis
8643514383. e

tan” ! ;W from y-axis
8643514384. At

Question Number : 16 Question Id : 8643511456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
—

2,00 ARYo v = 05127 + 3tj + 9k m/s Bert DI TIPVHD BerneFTFTY BROD
H@E% 5. 2s ROB0 ﬁﬁ%ﬁ Neozeny 9
Options :
WO .. - -1( 5
x GEEJOC.‘: tan E
8643514381, B
1 5)
i E?EEJGCS tan (E|

8643514382. i

o g
x ¥F0OT tan l[ﬂ
8643514383, R



' 3
y ©3003 tan I{ ;]
8643514384, b

Question Number : 17 Question Id : 8643511457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In order to determine the Young's Modulus of a wire of radius 0.2 cm (measured using a
scale of least count=0.001 cm) and length Im (measured using a scale of least
count=1 mm), a weight of mass 1 kg (measured using a scale of least count=1 g) was
hanged to get the elongation of 0.5 cm (measured using a scale of least count 0.001 cm).
What will be the fractional error in the value of Young's Modulus determined by this
experiment ?
Options :
8643514385. e

o
8643514386. 0%

o
8643514387. s

>
8643514388, -

Question Number : 17 Question Id : 8643511457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

325, 0.2cm (0.001 cm 32F @¥3od TeWOT Y [PEGANT) DA, 7, Im (Imm IF
wY3od TeIWon w¥d SRELRNT) [T Io&od oDONS VRTWOTRZ, VPFORL,
T2d 1kg (1g 30F 093ck IRNTITW, WFA V¥ FeRT) o 3RTITW, 0.5cm (0.001 cm
3O eg3on BRTIDH, WA ©ed IRRT) am;\aﬁmp% wdoben Head Rwipd. B
TodRNTY APFOATLE ohonT WP 553‘&3;55 =087 Decdne 7

Options :

o
8643514385. Lt

o
8643514386. 0%



z
8643514387, O-14%

-
8643514388, ° ©

Question Number : 18 Question Id : 8643511458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor develops 500 | of thermal energy in 20 s when a current of 1.5A is passed through
it. If the current is increased from 1.5 A to 3 A, what will be the energy developed in 20 s.
Options :

8643514389. 200

8643514390. g

8643514391. 1500 J

7
8643514392. 2000

Question Number : 18 Question Id : 8643511458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sregzipontd 1.5A I, ams* gﬁma‘;’ﬁ&i TOATRN, @ 20s NYY 500] Zom JdoD,

=0 o,
P33 TIRWDIV. Temw, 1.5A 0T 3 A A TPATT, 05 NYY wSS0iRT IFOI, ?
Options :
8643514389. 20
8643514390. ek
8643514391, 1200
)
8643514392, 2000 ]

Question Number : 19 Question Id : 8643511459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find out the surface charge density at the intersection of point x=3 m plane and x-axis, in
the region of uniform line charge of 8 nC/m lying along the z-axis in free space.

Options :

8643514303, 00 &/m

rr 2
8643514394, 0-07 nC m

2
8643514395, 0424 nC m

40nCm-2
8643514396.

Question Number : 19 Question Id : 8643511459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

VWeF 3 TSV z-UFT WROT AWHT 8nC/m TNTRT Tedo SHeIT :g;'ézj x=3m

VOTDATY AW F Hed S HWOTIONTW, FOBWLBNDO.

Options :
47.88 C/m

3643514303, 00 &/

o 2
8643514394, 0-07 nC m

2
8643514395, 0424 nC m

2
8643514396, 0 NCm

Question Number : 20 Question Id : 8643511460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The ff}llf}wf_t‘ug Iogic gate is r:-quivalr_-nt to:

D

B—o—o

A—Do_
DD_

Options :

8643514397, AND Gate

8643514308, [VAND Gate

8643514399, OR Gate

8643514400, NOR Gate

Question Number : 20 Question Id : 8643511460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FYAT BT e "?Q':di,; DTN

DD

B—

— -
}

Options :

2R
8643514397. EEEREN e

NAND ricts®
8643514398.

OR
8643514399.

- el
8643514400, NOR T3



Physics Section B

Section Id : 86435198
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435198
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643511461 Question Type : SA
Correct Marks : 4 Wrong Marks :

If one wants to remove all the mass of the earth to inf inity in order to break it up cnmpletel}r.

The amount of energy that needs to be sup phr_-d will be i ﬁ where x is
5

(Round off to the Nearest Integer)

(M is the mass of earth, R is the radius of earth, G is the gravitational constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643511461 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

PRNOIDIW), ACTREFTIN WIBREL 2.0) YTT @-&r;._,_ TRo0S0DW, YTOTF, INNTT
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. g : GM
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£

=hd, a9 x

(TOT Tprsor 088, TorRFTIRDR)

(M PRN0H T8, R Prncd &x,. G rboiysms Hob ﬁfpa'soﬁ}

5



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511462 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A swimmer can swim with velocity of 12 km/h in still water. Water flowing in a river has

velocity 6 km/h. The direction with respect to the direction of flow of river water he should

swim in order to reach the point on the other bank just opposite to his starting point is
°. (Round off to the Nearest Integer)

(Find the angle in degrees)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511462 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sen 6 km/h Jpohn TOOWSTE DT ION emrdemRN ) uwmda 12 km/h
wenTg mmag:ﬁmﬁ%é. S@e ST0RT Wothan aad@ (ateiniloviov aﬁcc&::ﬂ% 2ENTLITT0
SQoH QeT> TBOCINT FHeTE ° (2300 @*‘ammﬁ'% TREDFTIRDA)
Se0ng Samded (3peaTm, BNODY Tom LBADD)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643511463 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



M M

A body of mass 2 kg moves under a force of (2 6 o 8 516,:' N. It starts from rest and was at

the origin initially. After 4 s, its new coordinates are (8, b, 20). The value of b is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511463 Question Type : SA
Correct Marks : 4 Wrong Marks :0

2 kg, Dodob BRI (27 + 3] + 5k N woz va0nY HOBRIE. v DROTID B

RIOHWOT TOoPAT. 4s SHIod ©T0 DI JderZwoznsd (8,b,20) shH\. b I
VLD .3 . (B80T TpFRFOITY)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511464 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Aforce F =4 .E:. 3 ;;} | 4L is applied on an intersection point of x =2 plane and x-axis. The

magnitude of torque of this force about a point (2, 3, 4) is . (Round off to the

Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 24 Question Id : 8643511464 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x=2 IO DH, r-SFL FOOWT VOPAT WeS F =41 + 3] + 4k WOTIY, Wcder S,

RO (2,3,4) 3 0T B WOT PRDID TR . (®STT TpSFOTY
TREFNRTA)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511465 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A solid disc of radius ‘a” and mass ‘m’ rolls down without slippmg on an inclined plane

2 .
making an angle 6 with the horizontal. The acceleration of the disc will be W g sinb ywhere

b is . (Round off to the Nearest Integer)
(g=acceleration due to gravity

8 =angle as shown in figure)

P

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 25 Question Id : 8643511465 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ATHTOTROON b T SREITW LLNTRAVE WL AWIVT weS S, ‘a’ W W
‘m’ T FE DYOIROm MITOS FRIWET. ‘8 sinb” 33 Rgod Serpegmrmons, b om

. (B30T @ﬁ?@'ﬁ% QFA)

(g =m0 Seripedde, 0 = BITY SRC0ALH &re)

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511466 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For an ideal heat engine, the temperature of the source is 127°C. In order to have 60%

efficiency the temperature of the sink should be °C. (Round off to the Nearest

Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511466 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



=03 e ﬁo@ﬁeodﬁ:&, =300 evgdotn 127°C @,  60% :jg oLE, TBOIL TR0
2088 evgdoow °C. (BTT FporosE RYRWHTO0T)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643511467 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a parallel plate capacitor set up, the plate area of capacitor is 2 m? and the plates are
separated by 1 m. If the space between the plates are filled with a dielectric material of
thickness 0.5 m and area 2 m? (see fig) the capacitance of the set-up will be g,
(Dielectric constant of the material =3.2) (Round off to the Nearest Integer)

d

Y

Q“‘

S

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511467 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
AWPOST o mda‘ﬁ'mﬁ @p&ﬁ& TOORE POBNY DAY 2 m? 95 B, ePYNY
1 m ©030TY @E’f&ﬁﬁ%ﬂ. PONY TRWAT NS, TCILW,T* TWPFOOT FOTNY A
0.5m TITHOM FH3Y 2 m? QACCRFTENSTN DORATO, (232, dwed) 8 aém;;pm whlel. clevey
£, (TETT m‘am:-oﬁ% TReAFRRYAR)
(TTUWT* TRFFT TT2ITS* ﬁfpmoﬁ@:fi.z]
d

L
-~

&Jk

R

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643511468 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The energy dissipated by a resistor is 10 m] in 1 s when an electric current of 2 mA flows
through it. The resistance is {). (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 28 Question Id : 8643511468 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
CReFERRCTTY 2 mA AT TpE TOTS ¥TTY 1s 3@ 10m] IT, JI0IN S FFeordST,
TomaT Crega) 0. (BT TPpFRFOTE, TRERFNRTATT)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643511469 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A deviation of 2° is produced in the yellow ray when prism of crown and flint glass are
achromatically combined. Taking dispersive powers of crown and flint glass as 0.02 and
0.03 respectively and refractive index for yellow light for these glasses are 1.5 and 1.6
respectively. The refracting angles for crown glass prism will be ° (in degree).
(Round off to the Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643511469 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TR Mo DI, OWTRHRE UINNYR, CIRBRUWT SN FoTIFATN TYR TR 2° W
w3OD ﬁrﬁat mou:mm,:%m T mN T a.a .:N.r:w‘rr*aa.n@n W¥O0F & aqi:-nﬁ:a:
Zowen 0.02 B 0.08 SNES DI TEH TYEN VPYNY [er PTTesNR Fhwen 1.5 D)
1.6 Q0 IRDBRYTINT. TF MSE OINE IFPIT eI

(30T m:-c-ﬁﬁ TRDFTIRTATTV)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643511470 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A closed organ pipe of length L and an open organ pipe contain gases of densities p; and p,

respecfivel}-'. The cnmpressibilit}-' of gases are equal in both the pipes. Both the pipes are

x [

vibrating in their first overtone with same frequency. The length of the open pipe is E MIF"_j
where x is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511470 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

L o030 a0 onrs” 3evYs DR 300 onFT sedaned 5o modE p, DR p,
goha @dongsh N BRODD. JVBERR ZRTZ0D “RONY DoLHeBIJIOIW IAHTAD. H0ER

BRdEn end Setode LZTBRSY wode 8P 3ohY FoAmS[.  ENT BedESod

.-

WG % L W:I_:z Snd. a9 x= SNE. (BIVT Lpser 088, TREOFRRTAD)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A



Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

86435199
3

Online
Mandatory
20

20

80

Yes

1
86435199
Yes

Question Number : 31 Question Id : 8643511471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement regardmg the structure of Cﬁﬂ isg :

Options :

643514411 It contains 12 six-membered rings and 24 five-membered rings.

8643514412.

8643514413.

8643514414.

The six-membered rings are fused to both six and five-membered rings.

The five-membered rings are fused only to six-membered rings.

Each carbon atom forms three sigma bonds.

Question Number : 31 Question Id : 8643511471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

CepOWHoRD 20D ImmE Beedodn

Options :

QD 12 =0 ITE, womdﬁ@'m& :uzg 24 2T m’:ﬁ &mcn.un@;a. BRODT.

8643514411. o
6 ATA, HLOMITNED,
8643514412. =

8643514413.

8643514414, —

DT ATE, YLOTVTN, S RLDXE,

el Ay mzﬂ =400 ::':f'.  GDOTRTCNLN xm;;zmﬁrj.
GLOTRTN® T BN, TR TSN

TS PWFT TOBWENT TR ATY, WOPNTR), BRDI.



Question Number : 32 Question Id : 8643511472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statements below regarding colloidal solutions is :

Options :
643514415, “» colloidal solution shows colligative properties.

A colloidal solution shows Brownian motion of colloidal particles.

8643514416.

The flocculating power of AI** is more than that of Na™* .
8643514417.

An ordinary filter paper can stop the flow of colloidal particles.
8643514418. =

Question Number : 32 Question Id : 8643511472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
300 BTNy OB FYNT 3T Bewdoln :
Options :

20T OO Tomey) SNI0ITVWE MRRFFNTR, SRDZH.
8643514415. -3 il =

2.0 3O gy, 390 Ieny TPACHT wWosohdd, 3eedRT)N.
8643514416. = = <

AP+ 5 xadede wos) Nat Aod ©smens.
8643514417. =

TowRE, ARCID Tnoy Yo Iend Tooaiobhmd, AdILOT.
8643514418. g B e

Question Number : 33 Question Id : 8643511473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The characteristics of elements X, Y and Z with atomic numbers, respectively, 33, 53 and 83
are :

Options :

8643514419 v Y and Z are metals.



8643514420 X and Z are non-metals and Y is a metalloid.

8643514421 X is a metalloid, Y is a non-metal and Z is a metal.

X and Y are metalloids and Z is a metal.
8643514422,

Question Number : 33 Question Id : 8643511473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
XY 33 Z toBNY WOTINW IOIWED AOLNR00N Fmowan 33, 53 303 83

Options :

X, Y 23y Zneh dnexmneonas.
8643514419. -

X3 Znsh wdnpe@nenk. 2 Yuddee® (Sremog)snd.
8643514420. - ur

~, sk T-" = Haed T HBecrdois.

8643514401 Xg) oldet®, Y i@ 2 ZJIremamnd

X @3 YN «ldec@nyons sod Z dnetTmnhs.
8643514422. = =

Question Number : 34 Question Id : 8643511474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reduction reaction CANNOT be carried out with coke ?
Options :

8643514423. s Sl

8643514424, 0O — Zn

8643514425, 120 — Cu

ALO, — Al
8643514426

Question Number : 34 Question Id : 8643511474 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TYNT olnE YTIIF P FOHOID 3T R IRIRMPOY 7

Options :
Fe,O; — Fe
8643514423. 3

8643514424, N0 — Zn

Cu, 0O — Cu
8643514425. 5

ALO, — Al
8643514426.

Question Number : 35 Question Id : 8643511475 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct statements about H,O, are :
(A) wused in the treatment of effluents.
(B) wused as both oxidising and reducing agents.
(C) the two hydroxyl groups lie in the same plane.

(D)  miscible with water.

: MCQ Option Shuffling : Yes Is

Choose the correct answer from the options given below :

Options :
2643514427 (A) (B) and (D) only

s643514425. (D) (C) and (D) only

8643514429 (A) (€) and (D) only

3643514430, E R ATk I} anc {0

Question Number : 35 Question Id : 8643511475 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is



H,0,wif 00inT Tevdnd :
(A) TRZE, (VT )T, WARTID cuToinehTTD.
o o b ady -
(B) oUZTFeeTpdoIRN S YTITRFTWOSINODS T8 YOTOILENTTW.
(C) <T@ FWsT MOTNH 2.0T¢ FRILTY VDI
(D) ReddEeodnt wIdcodmond.
39NT soRnvY FOoIRT YITI, SOA :
Options :

8643514427, L) (B) D, (D) B3

B), (C) & (D) =3
8643514428. ®) (©) “( pEns

A), (C) @had =3,
8643514429.( pNISRE s

ssa3s14430, O (B Q2 D)

Question Number : 36 Question Id : 8643511476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I[dentify the elements X and Y using the ionisation energy values given below :

lonization energy (kJ/mol)

15[ znr.l
X 495 4563
Y 731 1450
Options :
8643514431, ~ Na; Y=Mg
X=Mg;Y=Na
8643514432.
8643514433, <1 Y=Mg
X=Mg; Y=F

8643514434.



Question Number : 36 Question Id : 8643511476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TEN ERWH ©OIRACTTE JIOD m’a%ﬁﬂé ATODOOT X DR Y m&r’i@émﬁ BOBI&LBOW0.

@odRAeddre T8¢ (kJ/mol FQ)
1 3e 2 5e

X 495 4563

Y 731 1450
Options :
8643514431, <~ Na; Y=Mg

X=Mg ;Y=Na
8643514432.

8643514433, < F; Y=Mg

8643514434, <~ Mg Y=F

Question Number : 37 Question Id : 8643511477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The exact volumes of 1 M NaOH solution required to neutralise 50 mL of 1 M H,PO, solution
and 100 mL of 2 M H3P02 solution, respectively, are :

Options :

8643514435, >0 mL and 50 mL

100 mL and 50 mL
8643514436.

A
2643514437 100 mL and 200 mL

8643514438, 100 mL and 100 mL

Question Number : 37 Question Id : 8643511477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



50 mL 1 M H,PO, @@, @@ 100 mL 2M H,PO, TRB0n=®), 338030 oR30a
1 M NaOH o 2300 Mgnsd 3mdwmen :

Options :
8643514435, 20 T E0 5 mal.

100 mL =323 50 mL
8643514436. =

100 mL =232 200 mL
8643514437. o

100 mL =32 100 mL
8643514438. o

Question Number : 38 Question Id : 8643511478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the following metal complex/compounds in the increasing order of spin only
magnetic moment. Presume all the three, high spin system.
(Atomic numbers Ce=58, Gd=64 and Eu=63))
(a) (NH,),[Ce(NO,),] (b) Gd(NO,); and () Eu(NO;),
Answer is :
Options :
8643514439, (@) < () < ()

8643514440. L

8643514441, (O <@ <(©)

8643514442, &) < @) < ()

Question Number : 38 Question Id : 8643511478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



39NT deed FoderF NYR), WOFPTee T, 902 TIF NOF THT SHRTTY Weed’,
[(Zoamerey Foadnsh Ce=>58, Gd =643 Eu=63) 2Qmp W) gade A43009u <0
DALY R

(a) (NHy,[Ce(NO,),]  (b) Gd(NO,), =3 (c) Eu(NO,),

YUITY

Options :

< (c)

3643514439, @) < (P)

3643514440, & <@ <®)

8643514441, (0 <@ < (9

8643514442, &) < @) < ®)

Question Number : 39 Question Id : 8643511479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fex, and Fey, are known when x and y are :

Options :

8643514443, X~ F, CL, Br, I and y=F, Cl, Br, I

8643514444, * F, CL, Br, I and y=F, ], Br

8643514445, * 7 F, Cl, Br and y=F, Cl, Br, I

g643514446. Y=L Br, Land y=F, Cl, Br, |

Question Number : 39 Question Id : 8643511479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fex, 5303 Fey, ns0 82260 F-[.upij E‘_,_%E“i"i*‘é:, TOMTT x W y N0 :

Options :

x=F, Cl, Br, Iz y=F, C, Br, |
8643514443 o



x=FE 4 Br,IEi‘E}.; y=F, {, Br

8643514444.

x=F, Cl, Br & y=F, Cl, Br, 1
8643514445. s

x=Cl, Br, I&3 y=F, Cl, Br, 1
8643514446. ==

Question Number : 40 Question Id : 8643511480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The green house gas/es is (are ) :

(A) Carbon dioxide

(B) Oxygen

(C) Water vapour

(D) Methane

Choose the most appropriate answer from the options given below :
Options :

(A) only

8643514447.

8643514448, (A) and (C) only

8643514449, A) () and (D) only

A) and ly
8643514450. Elams o

Question Number : 40 Question Id : 8643511480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TAE LO(P)Ned :

(A) wwra® Bud o

(B) wdue

(C) 2edld B

(D) Gea

39NT oYY Ae3mes ww3TIT, SO0 :
Options :

8643514447. Ll

A) = R[S
8643514448.( pRRsE s

A), (C) =3 W,
8643514449. ). Q) 2 ®) =5

(A) 3 (B) S0
8643514450. k

Question Number : 41 Question Id : 8643511481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11 :

List-1 List-11
Test/Reagents/Observation(s) Species detected
(a) Lassaigne’s Test (i) Carbon
(b)  Cu(ll) oxide (i) Sulphur
(c) Silver nitrate (i) N, S, P, and halogen
(d) The sodium fusion extract gives (iv) Halogen Specifically

black precipitate with acetic acid

and lead acetate
The correct match is :
Options :
8643514451, (@-(1), (b)-(ii), (c)-(iv), (d)-(iii)

8643514452, (@)-(ii), (b)-(i), (c)-(iv), (d)-(ii)



8643514453, (@)-(ii), (b)-(1), (c)-(ii), (d)-(iv)

8643514454 (@)(1), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 41 Question Id : 8643511481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T - 10D, T - 11 Seodrt Zeodd :

wed - 1 el - 1

TOLE /[ISCINTITING: | wTC R eI 0% I3 IRRHLTW
(a) oPFTWeT, WOeB () ®WFT*
(b) Cu (I &8 & (i) =T
(©) Ao e (i) N,S P2 Tdrend
(d) So* watie, ©aud ST AT (iv) 2WFE T ERET*

AReRODTF TReTRT TTERoON
T T QBB

k)

X000t BredFEoln :

Options :

8643514451, (@)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

i

8643514452, (@)-(H1), (b)-(1), (c)-(iv), (d)-(ii)
8643514453, (@)-(11), (b)-(1), (c)-(i1), (d)-(iv)

8643514454 (@)(1), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 42 Question Id : 8643511482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement 1 :  Sodium hydride can be used as an oxidising agent.
Statement Il : The lone pair of electrons on nitrogen in pyridine makes it basic.
Choose the CORRECT answer from the options given below :

Options :



643514455 Both statement I and statement Il are true

2643514456, Both statement | and statement 1l are false

Statement 1 is true but statement 11 is false
8643514457.

Statement 1 is false but statement 11 is true
8643514458.

Question Number : 42 Question Id : 8643511482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
391 QTR Tewdnva, douis.

£l

e l: Arclobhzir m-'ejfgﬂwfm% m?g&ﬁrﬁmﬁ envolnehAnLBToNG.
Bewd Il FPRaTS DedHNT HTON ATWT EeeROW LORCT T, TIVAREORTNAT.
FCNT f:ﬁr:f%i"‘.@é@__ pfaleviping mﬁtﬁﬁm% &304

Options :

Zeod I1zHz Zeed 11 10 1.
8643514455. pr

eIz ZeeR Il 3z TN
8643514456. - =

8643514457,

8643514458, =

Question Number : 43 Question Id : 8643511483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An unsaturated hydrocarbon X on ozonolysis gives A. Compound A when warmed with
ammonical silver nitrate forms a bright silver mirror along the sides of the test tube. The
unsaturated hydrocarbon X is :

Options :

CH;—C=C—-CHj
8643514459,



Cnyﬁ:=F—cn3
8643514460. CH; CH,

HC=C—CH,—CH;
8643514461, :

CH,

|
CH;—C=Q
8643514462.

Question Number : 43 Question Id : 8643511483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X Q0% 0w BRoZH FERTWFT LieeRFTRTY ‘A’ obd, AW, A FOOINFTI),
UBREVOIPFPOZ AQT et ieoln W TRRTN, VOFRTCIOD Necdod Ded BRYILY,
BYod ITHBOW ORI, TGS VICTT BBRFTWFT X F)

Options :

CH;— C=C—CH,
8643514459.

CH;—C = C—CH;

8643514460. CH; CH,

HC=C—CH,—CH;
8643514461, “

CHj,

|
CH;—C={i]
8643514462,

Question Number : 44 Question Id : 8643511484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



—_—
5
|

Identify the reagent(s) A" and condition(s) for the reaction
Options :
8643514463. A=Cly; dark, Anhydrous AlCl,

A=HCl, Zn(Cl,
8643514464. e

8643514465, 2= Cla 7 UV light

A=H : Anhydrous f’-"LIfCI3
8643514466. § :

Question Number : 44 Question Id : 8643511484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J——(

| ——1

3ohmeN YRTTB(MW) (A) DR, WTRH(NWL) NI, MTSA.

Options :
A=Cl; 834, Bz AICL

8643514463, i ~

A=HC], ZnCl,
8643514464.

A=Cl,;3eCvoded &¥
8643514465. =

HCl ; Sy%eea AlCl,
8643514466. :



Question Number : 45 Question Id : 8643511485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH, COOH
| &, (\
OCH;4 S,

In the above reaction, the reagent “A” is :
Options :
8643514467, -

; _ |
8643514468, *1kaline KMnO,, H
8643514469, HCL Zn—Hg
f

8643514470, VaBHy, H30

Question Number : 45 Question Id : 8643511485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g
‘ 2 & Al’.r

=

OCH, OCH,

a0edT 30howg, ¥RTTET “A” 0lD :
Options :

LiAlH,

8643514467.

] : ;
8643514468, Alkaline Kh11104, H

8643514469, HICL Zn—Hg

b
8643514470, NaBHy, HyO



Question Number : 46 Question Id : 8643511486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

/N @ CHMgBr  Biher

§ | (1.0 equivalent), dry X

S (ii) HyO* Major Product
OCH,4

The structure of X is :

Options :

WT
|:;f ~ ..."""--._Cf.HE
8643514471, CH
( — ‘ -.H"“NHQ
.%v.f’fﬂ ke 7
OCH;,4
8643514472,

8643514473.



8643514474.

Question Number : 46 Question Id : 8643511486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CN (i) CgHsMgBr =Tate

f’“‘a‘/ (LOZDTN), D
Fo ,-*'\ 11 }{3D+ E_}m;-} &'1.‘!33

DCH3

X' 3 Sesdods :

Options :
ﬂ;’
T
r’ i TGeHs
‘“‘-m.(
8643514471, OCH;
r' ‘ ~NH,
% T,
OCH;
8643514472.

8643514473.



ﬁnw “SCgHs

8643514474.

Question Number : 47 Question Id : 8643511487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is least basic ?
Options :

(CH3CO)»NH
8643514475, L

8643514476, (C2H5)2NH

(CH.CO)NHC,H
8643514477, V) 2775

CH %N
8643514478, "2 1503

Question Number : 47 Question Id : 8643511487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
VRNTYY IR TOF TTeRE0NTNT ?

Options :

(CH3CO),NH
8643514475, RS

8643514476, (C2H5)2NH

(CH.CO)NHC,H
8643514477, 30 2775

(CoHe )N
8643514478, "2 153



Question Number : 48 Question Id : 8643511488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amntml}-'sis of AIR}-‘I halides followed b}-‘ the treatment with WNaOH solution can be used to

prepare primary, secondary and tertiary amines. The purpose of NaOH in the reaction is :

Options :
2643514479, to remove basic impurities
8643514480, 0 Activate NEL, used in the reaction

8643514481 © increase the reactivity of alkyl halide

864351448, '© remove acidic impurities

Question Number : 48 Question Id : 8643511488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g ©F TWIENY BReATPITRRY, NaOH Homeemw, Xeda, TPLs, DIeod J)
WEFO VDT NYD, TECHWIDTONG. 33 3oHoDY NaOH Todsd evdi 3y :

Options :
TZo.0e0d WRTNYD, ShcHTTED
8643514479, = & = 4
Fobobhd evTodethat wHeeodl (NH;) obd, evdesmen.
8643514480. ~ = : SR
=8 of U FENY 3000 WNJLITODT), BIFN.
8643514481. ¢ - o ARG
00N WATNTD, SHTNTITER
8643514482. BT

Question Number : 49 Question Id : 8643511489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following polymer is used in the manufacture of wood laminates ?
Options :

643514483 Melamine formaldehyde resin



8643514484, Crea formaldehyde resin

R643514485. Cis-poly isoprene

8643514486. Phenol and formaldehyde resin

Question Number : 49 Question Id : 8643511489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BYNT IR I (TIRTT) JW, FI0D JWOINTW, LWITVOHIL WEWIL ?
Options :

MONT TnRFOD,E TAT
8643514483, @ e

OO0 FoFOX, 3 TAT

—

8643514484, e

8643514485, =

LT DD BRI, T CAT
& @

8643514486.

Question Number : 50 Question Id : 8643511490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The secondary structure of protein is stabilised by :
Options :

8643514487 van der Waals [orces

8643514488, 1 cptide bond

8643514489 Hydrogen bonding

8643514490, Slycosidic bond

Question Number : 50 Question Id : 8643511490 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TBeueT's Qeond T¥Non, A0FORMPT ATOOT
Options :

mo AT Do wOnw
8643514487, " &

2L B WoP
8643514488, =¥

BBRLET wophon
8643514489. © —

3=

BRA.GT WG
8643514490. ¢ ©

Chemistry Section B
Section Id : 864351100
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351100
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643511491 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When 35 mL of 0.15 M lead nitrate solution is mixed with 20 mL of 0.12 M chromic sulphate

solution,

%1077 moles of lead sulphate precipitate out. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 51 Question Id : 8643511491 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

35 an.Qe. ) 0.15M O FESetr Towessy, 200.0e I 0.12M 3ReNT e
Tomeatieoln AcdAien X107 Bpeonvd, S&° At TPemmeN BRTBRATRITD.
(TENCTT JRFTOFOT)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643511492 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (atomic mass 70 u) crystallizes in a hexagonal close packed structure. The total number
of voids in 0.581 g of Ga is %x10%!. (Round off to the Nearest Integer).

[Given : N, =6.023 x 10%7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511492 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (ZTT=50ea00ed 70 u) 1&3;2‘}3&0\;_ MOW B-MOBOT CBIODY AEISCFTRZOMDDR. JIRINY
243, XoBodn 0.581 memr Ga 5¢ x 1021, (Fanemd Temoror)
[G3 : N =6.023 x 107]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 53 Question Id : 8643511493 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of orbitals with n=5, m;= 2ig (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511493 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=>5, m;= +2 B3 [0 Eiﬁ'ﬂ'fé Iiof.ﬁém -
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511494 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
At 25°C, 50 g of iron reacts with HCI to form FeCl,. The evolved hydrogen gas expands

against a constant pressure of 1 bar. The work done h}-‘ the gas during this expansion is

(Round off to the Nearest Integer).
[Given : R=8.314 ] mol ! K1, Assume, hydrogen is an ideal gas]
[Atomic mass of Fe is 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511494 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



25°C 39 50 megs® sfesy HCI #ed Rdra Fed, Sedfiesach. wndosmns
RBRERT B0, 1 weT Egpd LB .s:m% QATE BROTDIYTD. m{;ﬁmz‘a’a (2503)
RRWEIN Y0P ITFLAT TODFHY) J. (Benemn T[RTF0T)
[52:R=8314Tmol 'K~ . EpeaT 2.0t STIF SROHOm Lol Feod HUERENTHHOD
55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511495 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 363 K, the vapour pressure of A is 21 kPa and that of B is 18 kPa. One mole of A and
2 moles of B are mixed. Assuming that this solution is ideal, the vapour pressure of the

mixture is kPa. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511495 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

363KTY, AT @Woi w23@ay 21kPa 3, ‘B’ ol 18kPa SNTW. AT .00 sSeee® &idd
B 3 2 Bpeo v, Ae0d. T mREHDT®W, STIFTOW PR, NIPT T LIFI
kPa. (ReNeTT TRTHOFOT)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100



Question Number : 56 Question Id : 8643511496 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sulphurous acid (H,SO,) has Ka;=1.7x10~ 2 and Ka,=6.4x10"%. The pH of 0.588 M
H25C13 is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511496 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Zon OF o) (H,50;) Kaj=17x10"23) Ka,=6.4x1078 3, Beodd. 0.588 M
H,50, 8 pHsy

(RNCTT JRFTOFOT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511497 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 5.0mmol dm 3 aqueous solution of KCl has a conductance of 0.55 mS when measured in
a cell of cell constant 1.3 cm ~ L.
1

The molar conductivit}-' of this solution is

mSm? mol ~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511497 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



1.3cm™ 1803 DoDdIwosRY, §0030Y 5.0 mmoldm 7 mdead KClmp@ed Somddoda,
TRTT [NATeNR 0.55 mS TeTIE QYOITDO. TRRT [RETT [T TS OIN
mSm? mol~ 1. (ZneTT Tpwmor oF)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511498 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A and B decompose via first order kinetics with half-lives 54.0 min and 18.0 min respectively.
Starting from an equimolar non reactive mixture of A and B, the time taken for the
concentration of A to become 16 times that of B is min. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511498 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ah) Bricd Zped goimadent De3pciod Shamen 54.0 D0 ) 18.0 DD STRF 0DNER00N
DFLNTY. FeDBVReRT* §IRSOTYT A DD B N dnZedod stogievamen, B Nod
16 TED), A 0D, BWONRTILD SNWERNF FPoD QENT. (FNCTT TRFTOFOT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511499 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

[Ti(H,O).]°* absorbs light of wavelength 498 nm during a d —d transition. The octahedral

splitting energy for the above complex is %10~ J. (Round off to the Nearest
Integer). h=6.626x10 H Js; c=3% 108 ms~1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511499 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d —d ®og3g [Ti(H,0),]** @) 498 nm ITONTRTYY, LT, P, WDCYOR MOFCRF T

-\

o m0Deod gedmo JFodn x10717], (Hneds memorod)
h=6.626x10"3 Is; c=3%x10% ms !

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511500 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
In Duma’s method of estimation of nitrogen, (.1840 g of an organic compound gave 30 mL
of nitrogen collected at 287 K and 758 mm of Hg pressure. The percentage composition of

nitrogen in the compound is . (Round off to the Nearest Integer).

[Given : Aqueous tension at 287 K=14 mm of Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511500 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

SHRET YomBBT WIT JRIEY, 758 mm of Hy 23BTY 2 278K 33009
0.1840 23 TomodT HOCINEY 300.J¢. FRRRT TRWHT. IOOWTTOOD TRRETN
Fes@moth Moodeesssiodn . (Renedd TemoFod)

[d% : 287 K wod &%ﬁ@ =14 mm of Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351101
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351101
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643511501 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. pg—2 . z2— b

If the foot of the perpendicular from point (4, 3, 8) on the line Ll s — =

[ 3 4

[ # 0 is (3, 5, 7), then the shortest distance between the line L; and line

L.X-2_y—4_z-5

Options :

S~

8643514501.

- - is equal o :



N|r—1.

8643514502.

1
8643514503. V3

N

| —
|
8643514504, V3

Question Number : 61 Question Id : 8643511501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a_yEzb

10 amen L,: ~ = 202) GeBA (4, 3,8) DOHAVOT 298 LowT 3

[ 3 4
Y oy, '.l - L et — oy ', .'1 2 y "4: Z 5 - 5, T
RO (3,5,7) ShdS. TemwET L, Besd SR L,: s " O RO 30T
3 4 5

TDRUR
Options :

1
8643514501, VO

1
8643514502, 2

1
8643514503. V3

|
8643514504, V3

Question Number : 62 Question Id : 8643511502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let the lengths of intercepts on x-axis and y-axis made by the circle x* + > + ax + 2ay + c=0,

(a <0) be 242 and 2.5, respectively. Then the shortest distance from origin to a tangent to

this circle which is perpendicular to the line x + 2y =0, is equal to :

Options :

8643514505. V10

A

8643514506.

o

8643514507.

2

8643514508.

Question Number : 62 Question Id : 8643511502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a<0)wmn x*+y*+ax+2ay+c=0,F3H x DB, y ©TT HDeLOLITRRT D3 F, PN
QTR FEowN 2.5 SV '2\,"5 SNE. ToMBT x+2y=0 Tedldn ©owmRNTNE Tone
DROVOMAV0T JFEIT IWFTD 3T BRTD

Options :

8643514505. V10

.

8643514506.

o

8643514507.

2

8643514508.

Question Number : 63 Question Id : 8643511503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



S L S

ek — D5 Tk mid® =97 -3 50 BN e LNy, rlas£2; 58] =3

e

R M —}2
and r- ‘2:' O] wk| = 1, «e R, then the value of w4 ‘r‘

is equal to :

Options :

8643514509.

8643514510, 11

8643514511, 19

8643514512. 15

Question Number : 63 Question Id : 8643511503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: = . A .—:*
r

A A A _ ) — M A _
a=1+2j—3k W3 b=21-37j+5k. a € R, |qwen

—_
=D J (A} a

e -
% =b X r

¥

a 4 -

j ; : 2
r-\ai +2j +k) = 33pa - (2] 7]

(5] —ak) = - 1, 836 «+ |1l & B :

Options :

8643514509.

8643514510, 11

8643514511, 19

8643514512. e

Question Number : 64 Question Id : 8643511504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f be a real valued function, defined on R—{—1, 1} and given by

|x 1| 2
'|x|1| x—1"

Then in which of the following intervals, function f(x) is increasing ?

Options :
8643514513, <o @)L}
' 1
=) U (12 =)~ )
8643514514, i
1
(—==. 51 1}
8643514515.
1
(—1, 51
8643514516.

Question Number : 64 Question Id : 8643511504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f oo SAE S0k wwIF@endd, R-{-1 1} 0 Hed @008 S &

x—1 2
fx) = 31log. L | 1| T SNE. TowEC IPNT BT woZTYR) f(x) LUIZTI,
Ejﬂ%.?uﬁ 2
Options :

s643514513, (7 F) A

oo (it =)

8643514514.
1
) b
8643514515.
1 l
( ¥ 2]

8643514516.



Question Number : 65 Question Id : 8643511505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2
If the points of intersections of the ellipse 16 | b_z = 1 and the circle x2 +y?=4b, b > 4 lie

on the curve y> =37, then b is equal to :
Options :

8643514517, 2

8643514518. -

8643514519, 10

8643514520, 12

Question Number : 65 Question Id : 8643511505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i !
b>4 wupnt DeFFEg - h—z =1 30 22 +y?=4b IFNYW, HeDIT WorN y>=>3x2

20w WFeadod Pedman b o Lo ¢
Options :

8643514517.
8643514518.
8643514519.

8643514520. ==

Question Number : 66 Question Id : 8643511506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let C be the locus of the mirror image of a point on the parabola y?=4x with respect to the

line y=x. Then the equation of tangent to C at P(2, 1) is :



Options :
8643514521, X T3Y=5

8643514520, X V=3

8643514523, X Y =1

. My =
8643514504, X T2y =4

Question Number : 66 Question Id : 8643511506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
C oowtd Ttmook y?=4x i olmemeh y=x O Celfod heddm VoA TTFeD
TBRoWTW VOWTPINT, Tomewd P(2,1) U C ned AWFIT XeleITDT)

Options :

8643514521, ¥ +3¥=5
8643514522, X TY=3
8643514523, ¥ ¥=1
8643514524, ¥ T2 =4

Question Number : 67 Question Id : 8643511507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A denote the event that a 6-digit integer formed by 0, 1, 2, 3, 4, 5, 6 without repetitions,
be divisible by 3. Then probability of event A is equal to:

Options :

O |

8643514525.

~3| W

8643514526.



11

8643514527, 27

9
8643514528. 56

Question Number : 67 Question Id : 8643511507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A Q020w 0,1,2,3,4,5 6, wsvscdeehi ﬁu%ﬁaﬁud '“-:'G':i oIRNT 6 WOoINWY, 3 DoT
AoTwReer @oN PRIV Noujn@;ﬂ TEINCITNG. Tl A Fuinoh mormaech3od :

Options :

O |

8643514525.

~3| W

8643514526.
8643514527.

8643514528.

Question Number : 68 Question Id : 8643511508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

di 7
If y=y(x) is the solution of the differential equation a’f t(tanx) y=sinx, 0=x= %, with

: ’:rw
y(0) =0, then ]f(z) equal to :

Options :

{2;15] log, 2

8643514529,

1
log, 2
8643514530, 2



log 2
8643514531. Be

% | i
1 og, 2
8643514532.

Question Number : 68 Question Id : 8643511508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: T . : it e o .d[ :

y=y(x) 2020 0=x= - QWM. y(0)=0 SNOT YTIOT FesTL af b (tanx) y=sinx T
TOTo0=oND. ToMTO V E; =
Options :

( ’ \|

= IogFE

2.2 -
8643514529, V2)

1
e Ing i
8643514530, 2 ©

log 2
8643514531. Be

l | i
1 og, 2
8643514532.

Question Number : 69 Question Id : 8643511509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-rcns_l'[l {x}z}sin_l{l kD .0
Let @« ¢ R be such that the function f(x) = < {x} {x}3 o is

lo, x=20

continuous at x=0, where {x}=x—[x], [x] is the greatest integer less than or equal to x.
Then :
Options :

8643514533, «=0



8643514534, O such «a exists

o= —

8643514535. V2

(=]
=
I

H=| =

8643514536.

Question Number : 69 Question Id : 8643511509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| cos™ (1 {1‘}2] sin” (1 — {x}) .0
== ¢ e e TR ’ P X F v — e S Ak ) 5% 3
aeR }TN WIF, f(x) =4 x} - &P @) x=0 Og BB @NT.

|o, r=0

BY fxf=x—[1], [x] Q0D ©d DRE TRFFOT <x BNT. TIMWIT :
Options :

8643514533, @=0

5

£

o 892 %5'5 &)
8643514534, e

L= _.";
8643514535, V2

o — E
8643514536. 4

Question Number : 70 Question Id : 8643511510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If (x, y, z) be an arbitrary point lying on a plane PP which passes through the points (42, 0, 0),

(0,42, 0) and (0, 0, 42), then the value of the expression

' x—11 y—19 z—12 x+y+z
2 2 ) "z 7 3 3 :
1 z—1 x=11)° (z—-1 x-11 1 x L) Z
(y=19)" (z-12)°  ( ) (z-12)7 ) (y-19)° 14x-11) (y-19) (z-12)
is equal to :
Options :
8643514537. 45

8643514538, Y

8643514539. .

8643514540, 3

Question Number : 70 Question Id : 8643511510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(42, 0, 0), (0, 42, 0) ﬁéﬂ (0,0,42) T ROWMAT [ROUE TWIREATE Fzh3dw P evald)
(x, ¥, 2) Q00 BWRIF WOWIFT, neddees :

[ L

x—1 i y—1Y i - Sl 1 xty+z

d (y-19)° (z-12*  (x—-11)% (z-12)* (x-11)% y—19)* 14(x—11) (¥-19) (2-12)

@30 :
Options :

8643514537, 40

8643514538, 29

8643514539. 0

8643514540, 2



Question Number : 71 Question Id : 8643511511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A={2, 3, 4, 5, ..., 30} and "=" be an equivalence relation on A X A, defined by
(a, b) = (c, d), if and only if ad=bc. Then the number of ordered pairs which satisfy this
equivalence relation with ordered pair (4, 3) is equal to :

Options :

8643514541. 5

=

8643514542.

1

8643514543.

oo

8643514544.

Question Number : 71 Question Id : 8643511511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A={23,45, .., 30} EEE ‘~ AxA ob DnedT AW, :domoz;imﬁdd; (a, b) = (c, d)
STT WP, endesdT ad =bc 0T TMARVLT. TorRET FZodwn (4,3) T BeIN

2 B
88 AT, AOWOTTR, I LTRAT FeOWTING 2830 00,000 :

o

£

Options :

8643514541.

8643514542.

|

8643514543,

8643514544.

Question Number : 72 Question Id : 8643511512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



|
LetP(x)=x>+bx +chea quadratic polynomial with real coefficients such that L}P{l'} de =1

and P(x) leaves remainder 5 when it is divided by (x —2). Then the value of 9(b +¢) is equal

to:

Options :

|

8643514545.

L]

8643514546.

8643514547.

15
8643514548.

Question Number : 72 Question Id : 8643511512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P,
P(x)=27+bx +c Q00T WINFTTHND, ToIS rOFER0ERR, TeodT R L}P(x} dx = 1
Shd. B! Px) &, (x-2) oo MR Jex 5 whd3d. Tmad 9(bt+c) ob

LSO :
Options :

|

8643514545.

L]

8643514546.

8643514547.

15
8643514548.

Question Number : 73 Question Id : 8643511513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider a rectangle ABCD having 5, 7, 6, 9 points in the interior of the line segments
AB, CD, BC, DA respectively. Let a be the number of triangles having these points from
different sides as vertices and 5 be the number of quadrilaterals having these points from

different sides as vertices. Then (pf — «) is equal to :
Options :
8643514549, 1173

8643514550, 1890
8643514551.

8643514552, *

Question Number : 73 Question Id : 8643511513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ABCD so3ng AB,CD, BC, DA Sesspslomnsd @m0gmiman 5,7,6,9 we¥gen Lomnd,
BRODT. o Q0T B oY VOWNYR, JoNNTTN LwToIeNA TBAT SEPRNY i)
ﬁcs:’:g; IRNT. P Q0T B 2P VORI, JonnTTN evziodeena CBAT WG F =Ny
288 FoLBoIBNT. TeMwT (B o) T HSo :

Options :

8643514549, 1173

8643514550, 1890

8643514551, /17

95

]

8643514552.

Question Number : 74 Question Id : 8643511514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the integral

s L”Wi]ﬂ“j dx

| D.‘L‘l d

where [x] denotes the greatest integer less than or equal to x. Then the value of I is equal

to:
Options :

45 (e+1)
8643514553.

9 +1
8643514554, © 1)

45 (e —1)
8643514555

9 (e—1)
8643514556.

Question Number : 74 Question Id : 8643511514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 10[x] el*] _ : Y . . i
oEe 1= _L [ ]1-—1 dx g¢ [x] Qowmd ©& BRFE TJeHFod <x Shd. Tmad I =
3 :
Options :
8643514553, = @+ 1)
9 (e +1)
8643514554
45 (e —1)
8643514555.
9 (e 1)

8643514556.

Question Number : 75 Question Id : 8643511515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let A(—1, 1), B(3, 4) and C(2, 0) be given three points. A line y=mx, m>0, intersects lines
AC and BC at point P and Q respectively. Let A; and A, be the areas of AABC and APQC

respectively, such that Al =3A2, then the value of m is equal to :
Options :
8643514557, 1
2
8643514558, 1°

8643514559. .

8643514560, 2

Question Number : 75 Question Id : 8643511515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A(-11), B3 4) =03 C2,0) 20w 3 Romnegm, seWH. m>0 @A y=mx Seadoin
AC mei BC ﬂe;ﬂﬁ@&i QZFFmen P mai Q EEJQ_ gebazE. AABC mzi APQC ne
FegFond A DI ApNPRNDR, A;=3A,800 mT BSoww
Options :
8643514557, 1
A
8643514558, 1°

8643514559. 2

8643514560,

Question Number : 76 Question Id : 8643511516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least value of |z| where z is complex number which satisfies the inequality

CE T T R T S
\ £ 4

Options :



]

8643514561.
8643514562.

8643514563.

8643514564.

Question Number : 76 Question Id : 8643511516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i . 5
(lzl +3) (lz| =1 . S -
| | || | l[ll || ] lﬂgp 2 .-\:_:‘. ].O‘g ."2_ |5‘u’? | gi'|, i = ad l E}Eﬁﬁgac&:m\ %&m@mm

% g b =, pr

&o3w

&

z Q0w Hoderdr FoBoH, z| & 3F

Options :

]

8643514561.
8643514562.

8643514563.

8643514564.

Question Number : 77 Question Id : 8643511517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sinx 1 + cos2xy cos2x
The maximum value of f(x)= |14 sinZx cos2x cos2x|,xeRis:
e X 2 -
sin”x Ccos X sin 2x
Options :
e —
8643514565, ¥
5

8643514566.



8643514567, Y

3
8643514568, *

Question Number : 77 Question Id : 8643511517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

si.nzx 1+ cnszx cos 2x
Xe [{“GT;J{ flx)=|1+ sinx  cos?x  cos2x| = ri-t‘;%i 33030 ;

L 7 :

sin“x cos x sin 2x

Options :
C o=

8643514565 V2

8643514566. 5

7
8643514567, ¥

3
8643514568. 4

Question Number : 78 Question Id : 8643511518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given that the inverse trigonometric functions take principal values only. Then, the number

_ N

: ; . il 33 . -1 4x ) Sty
of real values of x which satisfy sin I[F | F sin 1(?| = sin~ !
o J 3}

x is equal to :

Options :
8643514569, U

8643514570.

-j
8643514571,



8643514572,

Question Number : 78 Question Id : 8643511518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BRLTNE TSR JEeel S0RY Tped LBOODW, BT SNWBRYTIMIST. TMOE0

. _1(3 (
sin_ | —| + sin”~
o \

Options :

=sin “x @, QTR AR Fof, 1 F WFJodn
[+

c.n|,t'3‘
|

8643514569, U

8643514570.

2
8643514571.

8643514572,

Question Number : 79 Question Id : 8643511519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: S — S where S=(0, =) be a twice differentiable function such that f(x+ 1) =xf(x). If
g :5 — R be defined as g(x) =log, f(x), then the value of |g"(5) —g"(1) is equal to :

Options :

:H

o

8643514573.

197
44

-

8643514574.

187

8643514575, 144

8643514576, 1

Question Number : 79 Question Id : 8643511519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
S=(0, ») SNTIF f:5 >SS QAN T 3> WIF FNTY f(x+1)=xf(x) SAT.
§:S— R T, glx)=log, flx) 20D WRAFOLD. Tomead [g'(5) —g'(1)| T BJoww :
Options :

205

8643514573, 144

197
8643514574, 144

187
8643514575, 144

8643514576, 1

Question Number : 80 Question Id : 8643511520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let C, be the curve obtained by the solution of differential equation 2xy i—y = yz 22, x>0.

2xy  _ dy

Let the curve C:a be the solution of o
r -y

. If both the curves pass through (1, 1), then

the area enclosed }:n, the curves C 1 and CQ is equal to :

Options :

rlﬂ-lii.

8643514577.

(=

8643514578.
i B
8643514579, 2

8643514580, T 11



Question Number : 80 Question Id : 8643511520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) di L o L e .
x>0 TR 2xy d_j =2 —x? Q02 UTIOT TWEITRT TVOTICOOT C; N0 FFBeS0DM),
X - i

TEAODADS. «De oed G FrlatANIAY

QTBR FFOLN (1,1) RoThaT DRVT TethdRens, C; &
TESFOT WS ¢

Options :

T ed)
8643514577. °
8643514578, T 1

My
8643514579, 2
8643514580, T 11
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Question Number : 81 Question Id : 8643511521 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



For real numbers «o, 3, v and &, if

2
(x2-1) A t.?u'n_l[}L l lw
X / dx

2
[_x4l 3x2 4 1_] tan_l[x l 11
: A

| . . )
i Iﬂge(tm‘_l [1 l lﬂ Hp ‘Lﬂﬂ_l[—v{l 1]]| ?:ta_t‘l_l[l l l} HC
x A J ),

\ \ \ X . X

where C is an arbitrary constant, then the value of 10(« + vy + ) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643511521 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o, B,y m@i o MEd m:‘i.ﬁ FoBnveten

s

gl 1

'[3:2 1) + tan 1[1 W
\ S

x
lelw
X

dx

[_x4l 32 4 1_] tan_l[
L

' 2
& -1
o loge| tan™ | —— |

bt

g -
=
—
5
|
ful
o,

2 .
wix = +1
MLMM 1[1 LC
4

X A X

TomemT 10(a+ Py +8) Ne 2de

£l,

29 C Q00T QPRNIT A TooT=N
& g e& @

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 82 Question Id : 8643511522 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In AABC, the lengths of sides AC and AB are 12 cm and 5 cm, respectively. If the area of
AABC is 30 cm? and R and r are respectively the radii of circumcircle and incircle of AABC,

then the value of 2R +r (in cm) is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643511522 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AABC ob@) AC H3 AB oadne evGm 3wbeon 12cm 3Had S5em SAS. & Ipdud
faeeery) 30 cm? SATH, R @3 r ned 3 b ABCob Todeon I wossdconm
&g nwots , 2R +r (Fo.0engd)s &

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 83 Question Id : 8643511523 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the distance of the point (1, — 2, 3) from the plane x + 2y —3z + 10=0 measured parallel to

1 Ey_zl.'%

the line, is , then the value of 'm is equal to

o TS

3 m 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 83 Question Id : 8643511523 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
¥=1 . 32— EFd

RETNED Ted —— = i o N AVROSTZNLD PR, 1 +2y— 3z +10=0 0w
. m

L

Am3otod (1, —2,3) 20w Roahha el SO0 |ml & e

R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643511524 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
o = A A — A A A
Let ¢ be a vector perpendicular to the vectors a =i + j ~kand b =i +2j + k. If

— — —3 )

— 8 then the value of ¢ - \a x b is equal to

e 1 A M

c-\i+j+3k

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643511524 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Y — F.9 s A

— s Fay M _ . . o - -
c Q0W BOTFP a=1+j -k b=i+2j +k 200 IOIAGN LOWSNGD.

—* '..-"'-_ My .-"‘-_' —3 [ — —
c-li+j+3k)=8 smont ¢ -laxbla 33
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643511525 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:R — Rand g: R — R be defined as

[x+a, x<0 x+1, x <0
,HIJ=<|

= and g(x) =J

, x=0 E[x 1}|2|br x=0

where a, b are non-negative real numbers. If (gof) (x) is continuous for all x € R, thena +b is

r_-qual to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643511525 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a,b 20207y WWHTIRYE WAD FoLnvewen f:R — R & g: R — RewIzneay,

x+1, x<0
o N¥om TR, (gof) (x)

F) [x+a x<0 ) J
X)= + o, e, X)=
: |1 1. x=1 S 8 [{x l}zlb, =

QO 2R xeR wIF TN atb o WS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511526 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider the statistics of two sets of observations as follows :

Size Mean Variance
Observation 1 10 2 2
Observation 11 n 3 1
_ _ P _
If the variance of the combined set of these two observations is X then the value of n is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511526 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ROLRIAT AT Mods YvRdecssam, 8 §9¥80B0OZ TONPAT :

]
eoedd pferkts) BRIE (BT,3)
smdress 1 10 2 2
wmdness I n 3 1
17

81 addn rhods wsmesama‘:% Dedamen s FRdFs 58 =00, n o o

9
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643511527 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



' n k k vk o
el i K I L o (.1
Let n be a positive integer. Let A = Z{ 1) me LE] | (—| | (—. | —] | xE]
k=0

If 63A=1 %ﬂ'} , then n is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511527 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n Q0T z'.,jma'eﬁ TRFEUFOT=RNG.

" 1
&hHD. 63A=1 —p
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643511528 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a b
Let A= Ll ] and B= [hl ] be two 2 x1 malrices with real entries such that A =XB, where
da )

111 1 .2 2 2 2 77 !
= — . a; +a; = —\by +b 2 o
X ﬁ[l k ]and RERSEROT R 3[ 1 +b2) and (K2+1) b3 2 b, b,, then the

wvalue of k is



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511528 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i £t bl
do = bz

Q0L AT 2x1 [RIINYYT LOINW [OAW HOLNTOINTY

U3 | k2

e & 2 2 2 2 I
W keR ond. aj ta; = (b7 +b3) =3

(k2+1) b5 # —2b; b, smen k ob e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511529 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 _ g
Let 16’ a and b bein G.P. and —p

%, 6 bein AP., wherea, b> 0. Then 72(a+b) is equal to
a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511529 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



£l

3 , —, 6 N IBWOST 3¢@ (AP.) oig

3

1 . N - e B
P . b e omeeET I (G.P) oD =

| =

TonRe a, b>0shdl. Tomedd 72(a+b)odh e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643511530 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let

S (f=log ur+lorvx+lor vx+lop v r+log i x+loF i x+..... up to n-terms,
n(X) = log 1/ 8.% B Y 8. %1 8, Ys 8. %, ; ¢

where a > 1. If 5,;(x) =1093 and 5,(2x) =265, then value of a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643511530 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a>1ammn
(i ]

P : : : n TTNTION
Sa(x)= loga}éx I loga};;x I lnga}f‘-l Ilnga}/{lx I loga}{ﬁl I 1033_1@';1 E i

SNB. Sy(x)=1093 DR S,,(2%) =265, STt a oD B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100






